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Surveying engineering

Lecture six: Deflection Angle
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Forward Az. [(3aY) = Forward Az. | 34w) + Deflection Angle to right

or [Forward Az. |((3Y) = Forward Az. |((:.s) — Deflection Angle to leff

Example: The polygon was surveyed using the deflection angle method with information
about the direction of line AB =45° 00". The measured angles were as shown in sketch.
The required information is the direction of line CA.

CA olad dad Clladll [05° R
AB=45°00'
BC = AB + Def. Angle to R. =45°+122°=167°
CA =BC + Def. Angle toR.=167° + 133°=300°
AB = CA + Def. Angle to R.=300° + 105° =405°

;. AB=405°-360=45°00" .. OK
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Station | From To Deflection angle
A E B 142°25'L
B A C 135°40'L
C B D 105° 35'R
D C F 48°30'R
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Example 2:- Angles were measured using the deflection method, and the results were as follows

If the direction of line EA = 320, what are the directions of the other lines

EA = 320°> AB = EA — Deflection angle to left = 320°— 142°925'
AB =177°35'

BC = AB — Deflection angle to left = 177°35' — 135%40' = 41°55
CD = BC + Deflection angle to right = 41°55' + 105°35' = 147° 30"
DA = CD + Deflection angle to right = 147°30' + 48°30' = 196° 00’

Example 3

From the survey line AB, it was took linear measurements to install the rectangular
wall CDEF. If the direction of line AB is 170° 05', what is the direction of lines

CD and DE?
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Solution
G ks a4y ) 28 CFG Catial)

9=tan"w =50°
13.1

a =180—(90+8)= 40°

(AB ¢ )2 FG oY) 170° 05' = AB sladl = FG sladl
FC=FG+ a=170° 05' + 40°=210° 05' =» CF = FC - 180 = 30° 05'
(Aadd Jolaiasall Ul 55 (Y) 90° = 4ailE 4341 5 FCD 435/ 3Y
(CD ! CF (= Osadl (0 4251 5) 270° = 90° - 360° = 4 )ladl 4y 4 5
CD = CF+ Ext. angle to right = 30° 05' + 270° = 300° 05' =» DC = 120° 05'
DE = DC - Internal angle to left = 120° 05' — 90 = 30° 05'



